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Answer ALL questions.
PART A — (10 x 2 = 20 marks)

1. What is meant by remote invocation?
2. What are the three types of group communications?
3.  What is a distributed transaction? Give example.

4. List the Four Conditions for deadlock.

(w1

State the advantages of weak consistency model of DSM.

6. Which consistency model is implemented in Munin? Does it allow programmers

to annotate their data items?

What are transient failures?

-

8 Give a suitable example for Byzantine failure.
9. What are the services provided by the horizontal facilities of CORBA?

10. What are distributed objects?
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PART B — (5 x 16 = 80 marks)

What are the security challenges that need prime importance in

designing distributed systems? (8

Write brief notes on mobile agents and thin clients. 8
Or

What are the characteristics of multicast communication? How does

IPv4 support multicast communication? (8)

Explain the process of RPC between a client and a server program.

8

Discuss the need for the clock synchronization and describe the
design requirements for a system to synchronize the clocks in a

distributed system. (8)

Explain with suitable example the casual ordering of events using

Lamport timestamps. (8)
Or

Write and explain Chandy and Lamport’s ‘snapshot’ algorithm. (8)
Explain the Ricart and Agrwala’s algorithm for mutual exclusion.(8)
Describe the merits and demerits of using Distributed Shared
Memory concept for client server systems. (8)

Explain why granularity is an important issue in DSM systems.
Compare the issue of granularity between object-oriented and byte-

oriented DSM systems. (8)
Or

Prove that Ivy’s write-invalidate protocol guarantees sequential

consistency. (8)

Distinguish between eager and lazy release consistency. (8

Describe the various types of failures that could happen in a

distributed system. (8)

Demonstrate the steps of the Two-Phase Commit protocol with its

finite state machines for the coordinator and participants. (8)
Or

Explain the Byzantine Generals problem. (8)

Bring out the features of three-phase commit protocols and compare
it with that of two-phase commit protocol. (8)
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Write a note on the CORBA services. 8
Explain the ways by which the objects are referenced in CORBA. (8)

Or
Explain the features of DCOM to support Active Directory. 8
Highlight the features of Jini. ®
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